HUGO ALEX RIVAS MORA

LIMITES ALGEBRAICOS RESUELTOS

Ejercicio 1

r >4+ 2r—3
rl—l%r?—ﬁr—l—’é

Respuesta:

lim (z+3)(z 1)
r—l III‘ — 4:]{.1’” — 1::|
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Ejercicio 2

rt— 8

lim
r—1 1 — T

Respuesta:
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lim ————
—1 1 —x
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1
Ejercicio 3

2 —Jr4+2
lim

z—2 r—2

Respuesta:
r 2—Jr+2 2442
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=2 1 —2 2+ r+2
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—-1/4

Ejercicio 4

! 5rt —3x% — 68
T2 075 372 4 27 4 8

Respuesta:
(xr +2)(5x* — 102* + 177 — 34)
2 (x4 2)(22* + 822 — 192 + 40)

Ejercicio 5

' > 4 3% 4 22
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z—=—2 r?—1—06
Respuesta:
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=222 (x4 2)(z — 3)
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Ejercicio 6

r? — 81 r—9(r4+9) Jr+3
lim —— limIf (2+9) VIt
=8 /T — 3 _=—8
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Ejercicio 7
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Ejercicio 8

2= -V2

lim

r—0 )

Y@= -V2 L/ 2-00-v2 V2-3 o0
lim = —
x—0 1 - 0 - 0 0

ff?—f)—x@um("ﬂ —-ﬂ—fﬁ (2 —1)+ V2

g = t(,/( —f)+f
(Y-t -(v2)? (2-1)-2)
lim — lim — ’ ’
U2+ v2) T2 - +V2)
: —t —1 —1
lim — lim — =
(G- +V2) T2 2-t)+v2 J2—0)+V2
1 4
=M3(2‘3-|-\/§=2\/§
Ejercicio 9
T
lim —
=0 J(1432) -1
RESPUESTA:
evaluando:
lim — * 0 0 0

=0 J(1+432) — 1 MI(1+3{DH -1l_1-13
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[(1432)+1)
lim — * lim —— Ih“{ T Y

=0 (1 432) — 170 (\(1 4 82) - D(/(1+32) +1)

{ﬁ{l—l—SIj—F“ | {M |[1+3I,‘H-1fJ

lim In lim

TP (4 32)2(1)? _i=n (14 32) — (1)

,_

[(1432)+1) i
g SV AT AL i WV (1+32)+1) _ (J(1+3(0) +1)
_=—0 3r) 350 3 3

(V1+1)
3

2
= 3

Ejercicio 10

Ejercicio 11

r—1

lim

=122 +3 -2

Respuesta:

r—1 r?+342

li

Il—l'Iler +3-2+/224+34+2
(r —1)(v224+3+2)
=1 (r—=1)(r+1)

Ejercicio 12
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! 72 _ g
im
=a r2 — 2ar + a?

Respuesta:

(r+a)(r —a)

lim

r—a(r—a)(r—a)
. r+a

lim

r—ar —gq

. r—4
limg,_—.1— — T
Respuesta:
i r—4
M,
x—4)(r+3)
I r—4
i,
‘I +3
1/7
Ejercicio 14
. xd — 27
lirn,_.3 29
Respuesta:
I (x —3)(x* 4+ 324 9)
i,
T (z—3)(z +3)
y 24+ 3r4+9
Me=370 13
9/2
Ejercicio 15
I (x+ h)* — 2?
MM p—0 A
Respuesta:
. 1?4+ 2hr + h? — r?
limy_g 5

Eimh_.DZI + h
2x
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Ejercicio 16

3r —2
8r+ 7

[, oo

Respuesta:

y 6>+ 2r+1
Ma—col 2 37— 4
Respuesta:

6+ (2/r) + (1/2%)

[y —co

Ejercicio 18

?4+r—2

li T—0o0
b 470 — 1

Respuesta:

5—(3/r)—(4/z%)

6/5

(1/z) + (1/=*) — (2/x°)

lim; o 1—(1/2)

Ejercicio 19

, 2>
lim, co———
72

Respuesta:

2
(1/x)+ (1/1‘3}”_6

im0

40

0
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Ejercicio 20

T — 2
lim f(x) = lim vz

r— r—1 1 — 4

L E-2(E+2)
oy ) = T (r+ 2)

. r—4

}T]i]:lifl[ lm:i (2= 2 (V1 2) .+ llmf :El_].'?rl x/_—l—?J
1

tm f(z) = 7

Ejercicio 21

L = 22—35
4725 12 1 37— 10

Respuesta:

I (r = 7)(xr+5)
=5 (2 +5)(z — 2)
-5 -7
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—12

—7

Ejercicio 22

! —vVr—414yr—4
im
=5 r—5 14 r—4

Respuesta
—(r —5)
lim
=5 (r —5)(1+ /r+4)
—1
lim
=51+ /r+ 4
—1
1441
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2
Ejercicio 23
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! vr—2—-2vr—-242
im :
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Respuesta:

r—~6

{r—ﬁj(ﬁ-’r —242)
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=] =
b
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b

Ejercicio 24

o (r+h)P =2
lim -
50) h—0 h
Respuesta:
o r* 4+ 32°h 4+ 3zh* + B — 2P
lim
h—0 h
~ h(3x% +3rh 4+ h?)
lim -
h—0 h
lim 32> + llm 3rh + lim R’
h—0 h—0
3x°

Ejercicio 25

. 4—2* 3+ \,-EET2+5,‘3
lim — ——
.r—r?g_w.-"lfri_klrjz‘] 3++re4+5

51)

Respuesta:

(4 — 2%)

—
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r—2
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3+3

34+ 2?4+ 5)
— x?

B2
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6
Ejercicio 26

lim V2t h - VT

52) h—0 h

Respuesta:

lim Vitht iz
h=0{/z +h+ 2
h

i W+ R ¥
Ei.l% Ve+h+ e
e

3+3=6
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